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1. A capacitor with parallel circular plates of radius R = 2.0 cm is discharging via a current of 20 A.

(a) Calculate the induced magnetic field at a distance r = 1.0 cm from the central axis of the
capacitor.

(b) Calculate the induced magnetic field at a distance r = 4.0 cm from the central axis of the
capacitor.

(c) Calculate the maximum induced magnetic field.
(d) Plot a graph of B induced versus r and explain your results of part a and b.
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2. A magnet in the form of a cylindrical rod has a length of 5.0 cm and a radius of 1.0 cm. It has a
uniform magnetization of 5300 A/m. What is the magnetic dipole moment of the magnet?
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